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1 2 3 4 5 6 7 8 9 10 11 12 13
0 | 458,00 3 0 7 4,66 0,16
0,19 3,61 0,70 16,82
0 | 461,61 8 0 7 4,66 0,23
0,23 14,30 3,2 66,64
0 | 475,91 8 0 6 4,66 0,22
0,23 15,92 3,6 74,19
0 | 491,83 9 0 6 4,66 0,23
0,25 14,59 3,6 67,99
0 | 506,42 1 0 6 4,66 0,26
0,34 15,63 5,3 72,84
0 | 522,05 18 0 9 4,66 0,42
0,28 15,11 4,2 70,41
0 | 537,16 6 0 3 4,66 0,14
0,11 14,14 1,5 65,89
0 | 551,30 3 0 2 4,66 0,08
0,09 5,50 0,5 25,63
0 | 556,80 4 0 2 4,66 0,09
0,08 14,37 1,1 66,96
0 | 571,17 4 0 0 4,66 0,06
0,12 15,35 1,9 71,53
0 | 586,52 9 3 0 4,66 0,19
0,20 23,48 4,7 109,42
0 | 610,00 1 3 0 4,66 0,22
0,20 15,00 3,0 69,90
0 | 625,00 7 5 0 4,66 0,19
0,16 14,40 2,2 67,10
0 | 639,40 4 4 0 4,66 0,12
0,16 28,81 4,7 134,25
0 | 668,21 0 4 9 4,66 0,20
0,20 1,79 0,4 8,34
0 | 670,00 0 4 9 4,66 0,20
0,12 28,87 3,4 134,53
0 | 698,87 0 1 1 4,66 0,03
0,11 25,92 2,8 120,79
0 | 724,79 10 2 0 4,66 0,19
0,14 25,21 3,5 117,48
0 | 750,00 0 3 3 4,66 0,09
0,05 12,44 0,6 57,97
0 | 762,44 0 0 0 4,66 0,00
SUMA : 304,44 51,1 1418,7
Vm = 0,00 kg/m. kw.




